Use the following information to calculate source and uses and financial ratios.

COMPARATIVE BALANCE SHEETS

XYZ Corporation

1/1/09

1/1/10

Source

Use
Total Assets



$200

$235
 
Cash



   20

   10

10

Marketable Securities

   15

    0

15

Accounts Receivables

   30

   40



10

Inventory


   70

 100



30

Gross Fixed Assets

 100

 140



40

Less Accumulated

    Depreciation

   35

   55

20

Net Fixed Assets

   65

   85

Total Liabilities + Equity

200

235
Accounts Payable

 20

 25

 5

Short-term Notes Payable
 20

  5



15

Long-Term Debt

 20

 58

38
Preferred Stock

   5

  5
Common Stock

 45

 45

Retained Earnings

 90

97

 7

   

Total Sources or Uses






95

95
2010 Income statement

Sales




200


Less:

Cost of Goods Sold


 90

Depreciation Expense


 20

Interest Expense*


 20

Marketing Expense 


 10

Lease Payments


 40


Salaries and Benefits


 10

Earnings Before Tax


 10

Taxes




   3

Net Income After Tax


   7
*Note:  Principal payments on debt = 5 and tax rate = 35%
Know how to identify any of the above items as a Source or Use.

Source = (A or (L and Use = (A or (L

Notes:  ΔRE = NIAT - (CS DIV and PS DIV);  ( Accum. Depr. (Depr. Exp.) = Source

Calculate the assigned financial ratios (use only the information for 2010):

Liquidity

1.  CR = CA/CL = 150/30 = 5.0
2.  QR or AT = (CA-Inv)/CL = (150-100)/30 = 1.67
3. NWC = CA - CL = 150 -30 = 120
Activity/Efficiency

1.  Cash Velocity (Turnover) = Sales/(Cash + MS) = 200/10 = 20
2A.  ARTO = Sales/AR = 200/40 = 5.0
 or 

2B.  Average Collection Period = AR/(Daily Average Sales) = 40/(200/360 days) = 72 days

Note ARTO also = 360/ACP = 360/72 = 5.0
3.  Inventory TO = Sales/Inventory = 200/100 = 2.0

Note:  Unless CGS is specified as part of the ratio, use sales.

4.  FATO = Sales/NFA = 200/85 = 2.35
5.  TATO = Sales/TA = 200/235 = 0.85
Leverage and Coverage Ratios

1.  Leverage Ratio = Total Debt/TA = 88/235 = 0.37
2.  Times Int. Earned = EBIT/Int. Exp. = (10 + 20)/20 = 1.5
3.  Fixed Charge Coverage (FCC)* 


= [EBT + Int Exp + Lease Pmt])/[ Int Exp + Lease Pmt. + (Prin. Pmt/ (1-tax))]

= [10+20+40]/[20+40+(5/(1-.35))] = 70/67.69 = 1.03
Profitability

1.  Gross Profit Margin (GPM) = (S - CGS)/S = (200-90)/200 = 55%

2.  Net Operating Margin (NOM) = (EBIT or NOI)/Sales = (10+20)/200 = 15%

3.  Net Profit Margin (NPM) = NIAT/Sales = 7/200 = 3.50%

4.  Return on Assets (ROA) = NIAT/TA = 7/235 = 2.98%
5.  Return on Equity (ROE) = NIAT/Common Equity = 7/142 = 4.93 %

